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Problem number (1) (20 Marks)

The given is a plan of a roof , draw to scale 1:50 the necessary details of slab reinforcement.
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Problem number (2) (20 Marks) : e :

For the above roof, draw to scale 1:25 the necessary reinforcement details of section X-X

The given is an elevation of a connection between S.I.B and built —up beam, draw to scale 1:5 the
followings:

a) The given elevation ) (10 Marks)
b) Section Plan through X-X') (10 Marks)
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(60 Marks)

(A-B-C-D) (15 Marks)

arks),
b) Section Elevation through the lower vent (15 Marks) ,
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The given is a plan H.E.R of a R.C bridge, draw to scale 1
30

Problem number (4)
a) The given plan
¢) Half section Side view
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